

County of DeKalb, GA

Purchasing and Contracting

Michelle Butler, Chief Procurement Officer
1300 Commerce Drive, Decatur, GA 30030

BID TABULATION

SOLICITATION No. 2025-016-ITB Roadway Striping Project (270 Days)

RESPONSE DEADLINE: August 12, 2025 at 3:00 pm COST OPENING: Friday, September 26, 2025 at 12:00 pm

Vendor	Total
PEEK PAVEMENT MARKING, LLC	\$460,008.90
Tidwell Traffic Solutions	\$586,217.36
TRP Construction Group	\$680,338.90
NGT Group LLC	\$790,014.32

PRICE SCHEDULE 2025-016-ITB ROADWAY STRIPING (270 DAYS)

South Stone Mountain Road from Rockbridge Road to Panola Road

Price Schedul	e 2025-016-ITB Roadw	ay Striping (270	Days)	NGT Gr	oup LLC	PEEK PAVEMENT MARKING, LLC		Tidwell Traffic Solutions		TRP Constru	ction Group
Line It	em Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
th Stone Mountain	Road from Rockbridge	Road to Panola I	Road								
150-1	000 TRAFFIC CONTROL	1	LS	\$6,246.24	\$6,246.24	\$2,450.00	\$2,450.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
653-0	SYMBOL RXR/HWY	4	EA	\$562.16	\$2,248.64	\$500.00	\$2,000.00	\$950.00	\$3,800.00	\$910.00	\$3,640.00

Price Scheo	edule 2025	5-016-ITB Roadway	Striping (270 E	Days)	A \$118.68 \$5,577.96 \$75.00 \$3,525.00 A \$156.16 \$468.48 \$150.00 \$450.00 F \$0.87 \$15,986.25 \$0.45 \$8,268.75		Tidwell Traf	fic Solutions	TRP Construction Group			
Line	ne Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
653	3-0120	THERMOPLASTIC PAVEMENT MARKING, ARROW, TP 2	47	EA	\$118.68	\$5,577.96	\$75.00	\$3,525.00	\$95.00	\$4,465.00	\$115.00	\$5,405.00
653	3-0210	THERMOPLASTIC PAVEMENT MARKING, WORD, TP 1	3	EA	\$156.16	\$468.48	\$150.00	\$450.00	\$200.00	\$600.00	\$155.00	\$465.00
653	3-1906	THERMOPLASTIC SOLID TRAF STRIPE, 6 IN, WHITE	18375	LF	\$0.87	\$15,986.25	\$0.45	\$8,268.75	\$0.60	\$11,025.00	\$0.47	\$8,636.25
653	3-2602	THERMOPLASTIC SOLID TRAF STRIPE, 6 IN, YELLOW	18375	LF	\$0.94	\$17,272.50	\$0.45	\$8,268.75	\$0.60	\$11,025.00	\$0.51	\$9,371.25
653	3-2611	THERMOPLASTIC SKIP TRAF STRIPE, 6 IN, WHITE	18692	GLF	\$0.50	\$9,346.00	\$0.30	\$5,607.60	\$0.58	\$10,841.36	\$0.22	\$4,112.24
653	3-3602	THERMOPLASTIC SKIP TRAF STRIPE, 6 IN, YELLOW	18375	GLF	\$0.44	\$8,085.00	\$0.30	\$5,512.50	\$0.58	\$10,657.50	\$10.22	\$187,792.50
653	3-6004	THERMOPLASTIC TRAF STRIPE, WHITE	963	SY	\$7.31	\$7,039.53	\$5.00	\$4,815.00	\$6.00	\$5,778.00	\$3.50	\$3,370.50

Pric	e Schedule 202	5-016-ITB Roadway	Striping (270 [Days)	NGT Gr	oup LLC		ENT MARKING, LC	Tidwell Trat	fic Solutions	TRP Constru	uction Group
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
	653-6006	THERMOPLASTIC TRAF STRIPE, YELLOW	98	SY	\$7.43	\$728.14	\$5.00	\$490.00	\$6.00	\$588.00	\$3.50	\$343.00
	654-1001	RAISED PVMT MARKERS TP 1	459	EA	\$6.87	\$3,153.33	\$4.00	\$1,836.00	\$5.00	\$2,295.00	\$4.50	\$2,065.50
	654-1003	RAISED PVMT MARKERS TP 3	584	EA	\$6.56	\$3,831.04	\$4.00	\$2,336.00	\$5.00	\$2,920.00	\$4.50	\$2,628.00
	653-1704	THERMOPLASTIC SOLID TRAF STRIPE, 24" WHITE STOP BARS	400	LF	\$7.50	\$3,000.00	\$7.50	\$3,000.00	\$8.50	\$3,400.00	\$8.00	\$3,200.00
	653-1804	THERMOPLASTIC SOLID TRAF STRIPE, 8" WHITE CROSSWALK	672	LF	\$3.12	\$2,096.64	\$2.50	\$1,680.00	\$2.50	\$1,680.00	\$3.25	\$2,184.00
Total				I		\$85,079.75		\$50,239.60		\$71,074.86		\$235,213.24

North Hairston Road from East Ponce de Leon Avenue to Rockbridge Road

Pric	e Schedule 202!	5-016-ITB Roadwa	y Striping (270 [Days)	NGT Gr	oup LLC		NT MARKING, _C	Tidwell Traffic Solutions		TRP Construction Group	
	Line Item Description Quantity Unit of Measure					Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
North Hairsto	on Road from Ea	st Ponce de Leon A	Avenue to Rock	oridge Road								

Prid	ce Schedule 202	5-016-ITB Roadway	Striping (270 I	Days)	NGT G	roup LLC	\$4,525.00 \$4,525 \$5 \$75.00 \$6,150 \$150.00 \$300.0 \$0.45 \$15,275 \$0 \$0.45 \$12,687		Tidwell Tra	ffic Solutions	TRP Construction Group	
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
	150-1000	TRAFFIC CONTROL	1	LS	\$6,246.24	\$6,246.24	\$4,525.00	\$4,525.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
	653-0120	THERMOPLASTIC PAVEMENT MARKING, ARROW, TP 2	82	EA	\$118.68	\$9,731.76	\$75.00	\$6,150.00	\$95.00	\$7,790.00	\$115.00	\$9,430.00
	653-0210	THERMOPLASTIC PAVEMENT MARKING, WORD, TP 1	2	EA	\$156.16	\$312.32	\$150.00	\$300.00	\$200.00	\$400.00	\$150.00	\$300.00
	653-1906	THERMOPLASTIC SOLID TRAF STRIPE, 6 IN, WHITE	33945	LF	\$0.87	\$29,532.15	\$0.45	\$15,275.25	\$0.60	\$20,367.00	\$0.48	\$16,293.60
	653-2602	THERMOPLASTIC SOLID TRAF STRIPE, 6 IN, YELLOW	28195	LF	\$0.94	\$26,503.30	\$0.45	\$12,687.75	\$0.60	\$16,917.00	\$0.52	\$14,661.40
	653-2611	THERMOPLASTIC SKIP TRAF STRIPE, 6 IN, WHITE	28195	GLF	\$0.50	\$14,097.50	\$0.30	\$8,458.50	\$0.58	\$16,353.10	\$0.22	\$6,202.90
	653-6006	THERMOPLASTIC TRAF STRIPE, YELLOW	540	SY	\$6.94	\$3,747.60	\$5.00	\$2,700.00	\$6.00	\$3,240.00	\$3.50	\$1,890.00
	654-1001	RAISED PVMT MARKERS TP 1	72	EA	\$6.87	\$494.64	\$4.00	\$288.00	\$5.00	\$360.00	\$4.50	\$324.00

Pr	ice Schedule 202	5-016-ITB Roadway	Striping (270 [Days)	NGT Gr	oup LLC		ENT MARKING, LC	Tidwell Trat	ffic Solutions TRP Construction		uction Group
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
	654-1003	RAISED PVMT MARKERS TP 3	1096	EA	\$6.56	\$7,189.76	\$4.00	\$4,384.00	\$5.00	\$5,480.00	\$4.50	\$4,932.00
	653-1704	THERMOPLASTIC SOLID TRAF STRIPE, 24" WHITE STOP BARS	720	LF	\$7.50	\$5,400.00	\$7.50	\$5,400.00	\$8.50	\$6,120.00	\$8.00	\$5,760.00
	653-1804	THERMOPLASTIC SOLID TRAF STRIPE, 8" WHITE CROSSWALK	7200	LF	\$3.12	\$22,464.00	\$2.50	\$18,000.00	\$2.50	\$18,000.00	\$3.25	\$23,400.00
Total	otal					\$125,719.27		\$78,168.50		\$97,027.10		\$85,193.90

Wesley Chapel Road from I-20 to Crabapple Lane

Price	e Schedule 202	5-016-ITB Roadway	Striping (270 [Days)	NGT Gr	oup LLC	PEEK PAVEME LI	NT MARKING, _C	Tidwell Traf	fic Solutions	TRP Construction Group	
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Wesley Chape	l Road from I-2	0 to Crabapple Lane)									
	150-1000	TRAFFIC CONTROL	1	LS	\$6,246.24	\$6,246.24	\$2,400.00	\$2,400.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
	653-0110	THERMOPLASTIC PAVEMENT MARKING, ARROW, TP 1	2	EA	\$113.17	\$226.34	\$75.00	\$150.00	\$95.00	\$190.00	\$100.00	\$200.00

Pr	ice Schedule 202	5-016-ITB Roadway	Striping (270 [Days)	NGT Gr	oup LLC		ENT MARKING, LC	i, Tidwell Traffic Solutions		TRP Constru	uction Group
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
	653-0120	THERMOPLASTIC PAVEMENT MARKING, ARROW, TP 2	50	EA	\$118.68	\$5,934.00	\$75.00	\$3,750.00	\$95.00	\$4,750.00	\$115.00	\$5,750.00
	653-0210	THERMOPLASTIC PAVEMENT MARKING, WORD, TP 1	6	EA	\$156.16	\$936.96	\$150.00	\$900.00	\$200.00	\$1,200.00	\$155.00	\$930.00
	653-1906	THERMOPLASTIC SOLID TRAF STRIPE, 6 IN, WHITE	18005	LF	\$0.87	\$15,664.35	\$0.45	\$8,102.25	\$0.60	\$10,803.00	\$0.48	\$8,642.40
	653-2602	THERMOPLASTIC SOLID TRAF STRIPE, 6 IN, YELLOW	12408	LF	\$0.94	\$11,663.52	\$0.45	\$5,583.60	\$0.60	\$7,444.80	\$0.52	\$6,452.16
	653-2611	THERMOPLASTIC SKIP TRAF STRIPE, 6 IN, WHITE	14520	GLF	\$0.50	\$7,260.00	\$0.30	\$4,356.00	\$0.58	\$8,421.60	\$0.22	\$3,194.40
	653-6004	THERMOPLASTIC TRAF STRIPE, WHITE	98	SY	\$7.31	\$716.38	\$5.00	\$490.00	\$6.00	\$588.00	\$3.50	\$343.00
	653-6006	THERMOPLASTIC TRAF STRIPE, YELLOW	470	SY	\$7.43	\$3,492.10	\$5.00	\$2,350.00	\$6.00	\$2,820.00	\$3.50	\$1,645.00
	654-1001	RAISED PVMT MARKERS TP 1	309	EA	\$6.87	\$2,122.83	\$4.00	\$1,236.00	\$5.00	\$1,545.00	\$4.50	\$1,390.50

Pri	ce Schedule 202	5-016-ITB Roadway	Striping (270 I	Days)	NGT Gr	oup LLC		ENT MARKING, LC	Tidwell Trat	Tidwell Traffic Solutions		uction Group
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
	654-1003	RAISED PVMT MARKERS TP 3	488	EA	\$6.56	\$3,201.28	\$4.00	\$1,952.00	\$5.00	\$2,440.00	\$4.50	\$2,196.00
	653-1704	THERMOPLASTIC SOLID TRAF STRIPE, 24" WHITE STOP BARS	500	LF	\$7.50	\$3,750.00	\$7.50	\$3,750.00	\$8.50	\$4,250.00	\$8.00	\$4,000.00
	653-1804	THERMOPLASTIC SOLID TRAF STRIPE, 8" WHITE CROSSWALK	3102	LF	\$3.12	\$9,678.24	\$2.50	\$7,755.00	\$2.50	\$7,755.00	\$3.25	\$10,081.50
Total	otal					\$70,892.24		\$42,774.85		\$54,207.40		\$46,824.96

Briarcliff Road from Kingscliff Drive to Fielding Drive

Price	e Schedule 202	5-016-ITB Roadway	Striping (270 [Days)	NGT Gr	oup LLC		ENT MARKING, LC	Tidwell Traf	fic Solutions	TRP Construction Group	
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Briarcliff Road	from Kingsclif	f Drive to Fielding Di	rive								-	
	150-1000	TRAFFIC CONTROL	1	LS	\$6,246.24	\$6,246.24	\$575.00	\$575.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00
	653-0120	THERMOPLASTIC PAVEMENT MARKING, ARROW, TP 2	2	EA	\$118.68	\$237.36	\$75.00	\$150.00	\$95.00	\$190.00	\$115.00	\$230.00

Pric	e Schedule 202	5-016-ITB Roadway	Striping (270 [Days)	NGT Gr	oup LLC		ENT MARKING, LC	Tidwell Traf	fic Solutions	TRP Constru	uction Group
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
	653-1906	THERMOPLASTIC SOLID TRAF STRIPE, 6 IN, WHITE	4200	LF	\$0.87	\$3,654.00	\$0.45	\$1,890.00	\$0.60	\$2,520.00	\$0.48	\$2,016.00
	653-2602	THERMOPLASTIC SOLID TRAF STRIPE, 6 IN, YELLOW	4200	LF	\$0.94	\$3,948.00	\$0.45	\$1,890.00	\$0.60	\$2,520.00	\$0.52	\$2,184.00
	654-1001	RAISED PVMT MARKERS TP 1	98	EA	\$6.87	\$673.26	\$4.00	\$392.00	\$5.00	\$490.00	\$4.50	\$441.00
	654-1003	RAISED PVMT MARKERS TP 3	4	EA	\$6.56	\$26.24	\$4.00	\$16.00	\$5.00	\$20.00	\$4.50	\$18.00
	653-1704	THERMOPLASTIC SOLID TRAF STRIPE, 24" WHITE STOP BARS	30	LF	\$7.50	\$225.00	\$7.50	\$225.00	\$8.50	\$255.00	\$8.00	\$240.00
	653-1804	THERMOPLASTIC SOLID TRAF STRIPE, 8" WHITE CROSSWALK	30	LF	\$3.12	\$93.60	\$2.50	\$75.00	\$2.50	\$75.00	\$3.25	\$97.50
Total						\$15,103.70		\$5,213.00		\$8,070.00		\$7,726.50

Presidential Pkwy & Buckeye Road - Chamblee Tucker Rd to Chamblee Tucker Rd

Price Schedule 202	25-016-ITB Roadway	Striping (270 [Days)	NGT Gr	roup LLC		ENT MARKING, LC	Tidwell Tra	ffic Solutions	TRP Constru	uction Group
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
dential Pkwy & Buckey	e Road - Chamblee T	ucker Rd to Ch	amblee Tuckei	· Rd					•		
150-1000	TRAFFIC CONTROL	1	LS	\$6,246.24	\$6,246.24	\$2,325.00	\$2,325.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
653-0120	THERMOPLASTIC PAVEMENT MARKING, ARROW, TP 2	4	EA	\$118.68	\$474.72	\$75.00	\$300.00	\$95.00	\$380.00	\$115.00	\$460.00
653-0130	THERMOPLASTIC PAVEMENT MARKING, ARROW, TP 3	1	EA	\$174.89	\$174.89	\$150.00	\$150.00	\$200.00	\$200.00	\$145.00	\$145.00
653-1906	THERMOPLASTIC SOLID TRAF STRIPE, 6 IN, WHITE	17350	LF	\$0.87	\$15,094.50	\$0.45	\$7,807.50	\$0.60	\$10,410.00	\$0.48	\$8,328.00
653-2602	THERMOPLASTIC SOLID TRAF STRIPE, 6 IN, YELLOW	18100	LF	\$0.94	\$17,014.00	\$0.45	\$8,145.00	\$0.60	\$10,860.00	\$0.52	\$9,412.00
653-2611	THERMOPLASTIC SKIP TRAF STRIPE, 6 IN, WHITE	4240	GLF	\$0.50	\$2,120.00	\$0.30	\$1,272.00	\$0.58	\$2,459.20	\$0.22	\$932.80
653-6006	THERMOPLASTIC TRAF STRIPE, YELLOW	14	SY	\$7.43	\$104.02	\$5.00	\$70.00	\$6.00	\$84.00	\$3.50	\$49.00
654-1001	RAISED PVMT MARKERS TP 1	402	EA	\$6.87	\$2,761.74	\$4.00	\$1,608.00	\$5.00	\$2,010.00	\$4.50	\$1,809.00

BID TABULATION

2025-016-ITB - Roadway Striping Project (270 Days)

Pr	ice Schedule 202	25-016-ITB Roadway	Striping (270 I	Days)	NGT Gr	oup LLC		ENT MARKING, LC	Tidwell Trat	fic Solutions	TRP Constru	uction Group
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
	654-1003	RAISED PVMT MARKERS TP 3	106	EA	\$6.56	\$695.36	\$4.00	\$424.00	\$5.00	\$530.00	\$4.50	\$477.00
	653-1704	THERMOPLASTIC SOLID TRAF STRIPE, 24" WHITE STOP BARS	60	LF	\$7.50	\$450.00	\$7.50	\$450.00	\$8.50	\$510.00	\$8.00	\$480.00
	653-1804	THERMOPLASTIC SOLID TRAF STRIPE, 8" WHITE CROSSWALK	1300	LF	\$3.12	\$4,056.00	\$2.50	\$3,250.00	\$2.50	\$3,250.00	\$3.25	\$4,225.00
Total						\$49,191.47		\$25,801.50		\$32,693.20		\$28,317.80

Lithonia Industrial Boulevard from Covington Hwy to Stone Mountain Lithonia Rd

Price	e Schedule 2025	5-016-ITB Roadway	/ Striping (270 [Days)	NGT Gr	oup LLC	PEEK PAVEME LI		Tidwell Traf	fic Solutions	TRP Constru	ction Group
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Lithonia Indus	trial Boulevard	from Covington H	wy to Stone Mo	untain Lithonia	Rd							
	150-1000	TRAFFIC CONTROL	1	LS	\$6,246.24	\$6,246.24	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
	653-0100	SYMBOL RXR/HWY	4	EA	\$562.16	\$2,248.64	\$500.00	\$2,000.00	\$950.00	\$3,800.00	\$910.00	\$3,640.00

Pı	rice Schedule 202	25-016-ITB Roadway	Striping (270 I	Days)	NGT Gr	oup LLC		ENT MARKING, LC	Tidwell Traf	ffic Solutions	TRP Constru	uction Group
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
	653-0120	THERMOPLASTIC PAVEMENT MARKING, ARROW, TP 2	16	EA	\$118.68	\$1,898.88	\$75.00	\$1,200.00	\$95.00	\$1,520.00	\$115.00	\$1,840.00
	653-1906	THERMOPLASTIC SOLID TRAF STRIPE, 6 IN, WHITE	15000	LF	\$0.87	\$13,050.00	\$0.45	\$6,750.00	\$0.60	\$9,000.00	\$0.48	\$7,200.00
	653-2602	THERMOPLASTIC SOLID TRAF STRIPE, 6 IN, YELLOW	13000	LF	\$0.94	\$12,220.00	\$0.45	\$5,850.00	\$0.60	\$7,800.00	\$0.55	\$7,150.00
	653-2611	THERMOPLASTIC SKIP TRAF STRIPE, 6 IN, WHITE	16600	GLF	\$0.50	\$8,300.00	\$0.30	\$4,980.00	\$0.58	\$9,628.00	\$0.22	\$3,652.00
	653-6006	THERMOPLASTIC SKIP TRAF STRIPE, YELLOW	34	SY	\$7.43	\$252.62	\$5.00	\$170.00	\$6.00	\$204.00	\$3.50	\$119.00
	654-1001	RAISED PVMT MARKERS TP 1	415	EA	\$6.87	\$2,851.05	\$4.00	\$1,660.00	\$5.00	\$2,075.00	\$4.50	\$1,867.50
	654-1003	RAISED PVMT MARKERS TP 3	208	EA	\$6.56	\$1,364.48	\$4.00	\$832.00	\$5.00	\$1,040.00	\$4.50	\$936.00
	653-1704	THERMOPLASTIC SOLID TRAF STRIPE, 24" WHITE STOP BARS	140	LF	\$7.50	\$1,050.00	\$7.50	\$1,050.00	\$8.50	\$1,190.00	\$8.00	\$1,120.00

	Price Schedule 202	25-016-ITB Roadway	Striping (270 I	Days)	NGT Gr	oup LLC		ENT MARKING, LC	Tidwell Traf	fic Solutions	TRP Constru	ıction Group
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
	653-1804	THERMOPLASTIC SOLID TRAF STRIPE, 8" WHITE CROSSWALK	460	LF	\$3.12	\$1,435.20	\$2.50	\$1,150.00	\$2.50	\$1,150.00	\$3.25	\$1,495.00
Total		,		1		\$50,917.11		\$27,642.00		\$39,407.00		\$31,019.50

Martin Road from Martindale Lane to Redan Road

Pric	e Schedule 202	25-016-ITB Roadway	Striping (270 I	Days)	NGT Gr	oup LLC		ENT MARKING, LC	Tidwell Trat	fic Solutions	TRP Constru	ction Group
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Martin Road	from Martindal	e Lane to Redan Ro	ad									
	150-1000	TRAFFIC CONTROL	1	LS	\$6,246.24	\$6,246.24	\$950.00	\$950.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
	653-0120	THERMOPLASTIC PAVEMENT MARKING, ARROW, TP 2	2	EA	\$118.68	\$237.36	\$75.00	\$150.00	\$95.00	\$190.00	\$115.00	\$230.00
	653-1906	THERMOPLASTIC SOLID TRAF STRIPE, 6 IN, WHITE	7120	LF	\$0.87	\$6,194.40	\$0.45	\$3,204.00	\$0.60	\$4,272.00	\$0.48	\$3,417.60
	653-2602	THERMOPLASTIC SOLID TRAF STRIPE, 6 IN, YELLOW	7120	LF	\$0.94	\$6,692.80	\$0.45	\$3,204.00	\$0.60	\$4,272.00	\$0.55	\$3,916.00

Pı	rice Schedule 202	25-016-ITB Roadway	Striping (270 l	Days)	NGT Gr	oup LLC		ENT MARKING, LC	Tidwell Tra	ffic Solutions	TRP Constru	uction Group
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
	653-6006	THERMOPLASTIC TRAF STRIPE, YELLOW	67	SY	\$7.43	\$497.81	\$5.00	\$335.00	\$6.00	\$402.00	\$3.50	\$234.50
	654-1001	RAISED PVMT MARKERS TP 1	178	EA	\$6.87	\$1,222.86	\$4.00	\$712.00	\$5.00	\$890.00	\$4.50	\$801.00
	653-1704	THERMOPLASTIC SOLID TRAF STRIPE, 24" WHITE STOP BARS	30	LF	\$7.50	\$225.00	\$7.50	\$225.00	\$8.50	\$255.00	\$8.00	\$240.00
	653-1804	THERMOPLASTIC SOLID TRAF STRIPE, 8" WHITE CROSSWALK	200	LF	\$3.12	\$624.00	\$2.50	\$500.00	\$2.50	\$500.00	\$3.25	\$650.00
Total						\$21,940.47		\$9,280.00		\$12,781.00		\$11,489.10

River Road from Bouldercrest Road to Snapfinger Road

Price	Schedule 202!	5-016-ITB Roadway	/ Striping (270 [Days)	NGT Gr	oup LLC		NT MARKING, _C	Tidwell Traf	fic Solutions	TRP Constru	ction Group
	Line Item Description Quantity Unit of Measure				Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
River Road fro	m Bouldercres	t Road to Snapfing	er Road									
	150-1000	TRAFFIC CONTROL	1	LS	\$6,246.24	\$6,246.24	\$11,425.00	\$11,425.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00

Pr	ice Schedule 202	25-016-ITB Roadway	Striping (270 I	Days)	NGT G	roup LLC		ENT MARKING, .LC	Tidwell Tra	ffic Solutions	TRP Constr	uction Group
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
	653-0120	THERMOPLASTIC PAVEMENT MARKING, ARROW, TP 2	100	EA	\$118.68	\$11,868.00	\$75.00	\$7,500.00	\$95.00	\$9,500.00	\$115.00	\$11,500.00
	653-1906	THERMOPLASTIC SOLID TRAF STRIPE, 6 IN, WHITE	86000	LF	\$0.87	\$74,820.00	\$0.45	\$38,700.00	\$0.60	\$51,600.00	\$0.48	\$41,280.00
	653-2602	THERMOPLASTIC SOLID TRAF STRIPE, 6 IN, YELLOW	86000	LF	\$0.94	\$80,840.00	\$0.45	\$38,700.00	\$0.60	\$51,600.00	\$0.55	\$47,300.00
	653-3602	THERMOPLASTIC SKIP TRAF STRIPE, 6 IN, YELLOW	3140	GLF	\$0.44	\$1,381.60	\$0.30	\$942.00	\$0.58	\$1,821.20	\$0.22	\$690.80
	653-6004	THERMOPLASTIC TRAF STRIPE, WHITE	10	SY	\$7.31	\$73.10	\$5.00	\$50.00	\$6.00	\$60.00	\$3.50	\$35.00
	653-6006	THERMOPLASTIC TRAF STRIPE, YELLOW	3402	SY	\$7.43	\$25,276.86	\$5.00	\$17,010.00	\$6.00	\$20,412.00	\$3.50	\$11,907.00
	654-1001	RAISED PVMT MARKERS TP 1	2289	EA	\$6.87	\$15,725.43	\$4.00	\$9,156.00	\$5.00	\$11,445.00	\$4.50	\$10,300.50
	654-1003	RAISED PVMT MARKERS TP 3	704	EA	\$6.56	\$4,618.24	\$4.00	\$2,816.00	\$5.00	\$3,520.00	\$4.50	\$3,168.00

	Price Schedule 202	5-016-ITB Roadway	Striping (270 I	Days)	NGT Gr	roup LLC		ENT MARKING, LC	Tidwell Tra	ffic Solutions	TRP Constru	ıction Group
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
	653-1704	THERMOPLASTIC SOLID TRAF STRIPE, 24" WHITE STOP BARS	460	LF	\$7.50	\$3,450.00	\$7.50	\$3,450.00	\$8.50	\$3,910.00	\$8.00	\$3,680.00
	653-1804	THERMOPLASTIC SOLID TRAF STRIPE, 8" WHITE CROSSWALK	1140	LF	\$3.12	\$3,556.80	\$2.50	\$2,850.00	\$2.50	\$2,850.00	\$3.25	\$3,705.00
Total	1			I		\$227,856.27		\$132,599.00		\$158,718.20		\$135,566.30

North Decatur Road from Clairmont Road to Clifton Road

Price	Schedule 202	5-016-ITB Roadway	Striping (270 [Days)	NGT Gr	oup LLC	PEEK PAVEME LI		Tidwell Traf	fic Solutions	TRP Constru	ction Group
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
North Decatur	Road from Cla	irmont Road to Clif	ton Road									
	150-1000	TRAFFIC CONTROL	1	LS	\$6,246.24	\$6,246.24	\$875.00	\$875.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
	653-0110	THERMOPLASTIC PAVEMENT MARKING, ARROW, TP 1	2	EA	\$131.17	\$262.34	\$75.00	\$150.00	\$95.00	\$190.00	\$95.00	\$190.00

Price Schedule 202	25-016-ITB Roadway	Striping (270 I	Days)	NGT Gr	oup LLC		ENT MARKING, LC	Tidwell Tra	ffic Solutions	TRP Constru	uction Group
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
653-0120	THERMOPLASTIC PAVEMENT MARKING, ARROW, TP 2	5	EA	\$118.68	\$593.40	\$75.00	\$375.00	\$95.00	\$475.00	\$115.00	\$575.00
653-0210	THERMOPLASTIC PAVEMENT MARKING, WORD, TP 1	3	EA	\$156.16	\$468.48	\$150.00	\$450.00	\$200.00	\$600.00	\$155.00	\$465.00
653-1906	THERMOPLASTIC SOLID TRAF STRIPE, 6 IN, WHITE	6500	LF	\$0.87	\$5,655.00	\$0.45	\$2,925.00	\$0.60	\$3,900.00	\$0.48	\$3,120.00
653-2602	THERMOPLASTIC SOLID TRAF STRIPE, 6 IN, YELLOW	10000	LF	\$0.94	\$9,400.00	\$0.45	\$4,500.00	\$0.60	\$6,000.00	\$0.55	\$5,500.00
653-2611	THERMOPLASTIC SKIP TRAF STRIPE, 6 IN, WHITE	8100	GLF	\$0.50	\$4,050.00	\$0.30	\$2,430.00	\$0.58	\$4,698.00	\$0.20	\$1,620.00
653-6006	THERMOPLASTIC TRAF STRIPE, YELLOW	198	SY	\$7.43	\$1,471.14	\$5.00	\$990.00	\$6.00	\$1,188.00	\$3.50	\$693.00
654-1001	RAISED PVMT MARKERS TP 1	211	EA	\$6.87	\$1,449.57	\$4.00	\$844.00	\$5.00	\$1,055.00	\$4.50	\$949.50
654-1003	RAISED PVMT MARKERS TP 3	209	EA	\$6.56	\$1,371.04	\$4.00	\$836.00	\$5.00	\$1,045.00	\$4.50	\$940.50

	Price Schedule 2025-016-ITB Roadway Striping (270 Days)					oup LLC	PEEK PAVEMENT MARKING, LLC		Tidwell Traffic Solutions		TRP Construction Group	
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
	653-1704	THERMOPLASTIC SOLID TRAF STRIPE, 24" WHITE STOP BARS	200	LF	\$7.50	\$1,500.00	\$7.50	\$1,500.00	\$8.50	\$1,700.00	\$8.00	\$1,600.00
	653-1804	THERMOPLASTIC SOLID TRAF STRIPE, 8" WHITE CROSSWALK	1600	LF	\$3.12	\$4,992.00	\$2.50	\$4,000.00	\$2.50	\$4,000.00	\$3.25	\$5,200.00
Total				1		\$37,459.21		\$19,875.00		\$26,851.00		\$22,853.00

Chamblee Tucker Road from I-85 to Northcrest Road

Price	Price Schedule 2025-016-ITB Roadway Striping (270 Days)				NGT Gr			ENT MARKING, LC	Tidwell Traffic Solutions		TRP Construction Group	
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Chamblee Tuc	Chamblee Tucker Road from I-85 to Northcrest Road											
	150-1000	TRAFFIC CONTROL	1	LS	\$6,246.24	\$6,246.24	\$2,625.00	\$2,625.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
	653-0110	THERMOPLASTIC PAVEMENT MARKING, ARROW, TP 1	2	EA	\$131.17	\$262.34	\$75.00	\$150.00	\$95.00	\$190.00	\$95.00	\$190.00

Prid	ce Schedule 202	5-016-ITB Roadway	Striping (270 [Days)	NGT Gr	oup LLC	PEEK PAVEMENT MARKING, LLC		Tidwell Traffic Solutions		TRP Construction Group	
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
	653-0120	THERMOPLASTIC PAVEMENT MARKING, ARROW, TP 2	78	EA	\$118.68	\$9,257.04	\$75.00	\$5,850.00	\$95.00	\$7,410.00	\$115.00	\$8,970.00
	653-0210	THERMOPLASTIC PAVEMENT MARKING, WORD, TP 1	15	EA	\$156.16	\$2,342.40	\$150.00	\$2,250.00	\$200.00	\$3,000.00	\$155.00	\$2,325.00
	653-1906	THERMOPLASTIC SOLID TRAF STRIPE, 6 IN, WHITE	19610	LF	\$0.87	\$17,060.70	\$0.45	\$8,824.50	\$0.60	\$11,766.00	\$0.48	\$9,412.80
	653-2602	THERMOPLASTIC SOLID TRAF STRIPE, 6 IN, YELLOW	17911	LF	\$0.94	\$16,836.34	\$0.45	\$8,059.95	\$0.60	\$10,746.60	\$0.55	\$9,851.05
	653-2611	THERMOPLASTIC SKIP TRAF STRIPE, 6 IN, WHITE	25000	GLF	\$0.50	\$12,500.00	\$0.30	\$7,500.00	\$0.58	\$14,500.00	\$0.20	\$5,000.00
	653-6004	THERMOPLASTIC TRAF STRIPE, WHITE	753	SY	\$7.31	\$5,504.43	\$5.00	\$3,765.00	\$6.00	\$4,518.00	\$3.50	\$2,635.50
	654-1003	RAISED PVMT MARKERS TP 3	769	EA	\$6.56	\$5,044.64	\$4.00	\$3,076.00	\$5.00	\$3,845.00	\$4.50	\$3,460.50

	Price Schedule 2025-016-ITB Roadway Striping (270 Days)					oup LLC	PEEK PAVEMENT MARKING, LLC		Tidwell Traffic Solutions		TRP Construction Group	
	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
	653-1704	THERMOPLASTIC SOLID TRAF STRIPE, 24" WHITE STOP BARS	1097	LF	\$7.50	\$8,227.50	\$7.50	\$8,227.50	\$8.50	\$9,324.50	\$8.00	\$8,776.00
	653-1804	THERMOPLASTIC SOLID TRAF STRIPE, 8" WHITE CROSSWALK	7235	LF	\$3.12	\$22,573.20	\$2.50	\$18,087.50	\$2.50	\$18,087.50	\$3.25	\$23,513.75
Total	,	,				\$105,854.83		\$68,415.45		\$85,387.60		\$76,134.60

Recommend award to the lowest, responsive, and responsible bidder: Peek Pavement Marking LLC, 4600 Peek Industrial Drive, Columbus, GA 31909

Witness Signature: **Jessica Johnson**Agent Signature: **Danielle Swearingen**